
JAGAT TARAN GOLDEN JUBILEE SCHOOL, PRAYAGRAJ. 

Session: 2020-2021 

Class II 

Subject: ART  

(Study Material) 

Dear Parents/Students, 

Kindly follow these Instructions:- 

1.) Draw and colour the poster in your drawing copy 

2.) Children can use any colours that are available at the home 





 

Jagat Taran Golden Jubilee School. 

Session : 2020-2021. 

Class : II 

Subject: English. 

Book:  The English Channel ; Published by Indiannica Learning Private Limited 

 

Follow the instructions given below . 

1.Type the link https://play.google.com/store/apps/details?id=com.indiannica 

2. Download the ILP  app . 

3.Select :English . 

4.Select option :The Grammarite . 

5 Select videos :Nouns  

6.. Watch the videos explaining the topics Proper Nouns and Common Nouns . 

7. Now complete the assignments given below : 

 

Assignments:  

Q1:  Rewrite the sentences and underline the Proper Nouns : 

a) My name is Zubair. 

b) Mohsin is my brother . 

c) We study in Brook School . 

d) We have a pet named Boxer. 

e)  Our birthdays are in October and December. 

f) We go to Kiddy Park every Saturday and Sunday. 

 

Q2:Rewrite the sentences and circle the Common Nouns  

a) Cats can climb trees . 

b) Delhi is a big city . 

c) There is a bus on the road.  

d) I can ride a cycle.  

e)  The boys are playing in the park . 

f) The garden is full of flowers . 



 

Q3. Learn the given Masculine -Feminine genders and note them in your note book.  

a) Man -Woman  

b) Boy-Girl  

c) Uncle-Aunt 

d) King -Queen  

e) Husband -wife  

f) Horse -Mare 

g) Drake-Duck  

h) Lion -Lioness 

i) Bull-Cow     

 Lesson  1: Fun with Friends 

Learn the hard words and note them in your note book . 

1) Family  

2) Chennai 

3) House 

4) Children  

5) Friends 

6) Neighbours  

7) Enjoy 

8) Quarrel 

9) Laugh 

10) Reply 

Lesson 2.: The Balloon Race 

Learn the hard words and note them in your note book. 

1) Sunday 

2) Evening  

3) March  

4) Picnic 

5) Decide 

6) Balloons 

7) Burst 

8) Sound 

9) Fright 

10) Funny  

 

** Note**Do the given task in any notebook available at home.  



  JAGAT TARAN GOLDEN JUBLIEE SCHOOL 

    Session – (2020 – 2021) 

        CLASS – 2 

        Environmental Studies (E. V. S.)  

       (Book – ‘Hello Earth’) 

 

A. STUDY MATERIAL: -  

 

Kindly follow the instructions given below: -  

 

1. Visit and download the study material from the JTGJS School 

website. 
 

2. Open the PDF File. 
 

3. Read the Chapter 5 – ‘Our School’ and Chapter 6 - 'Our Country’, 

thoroughly. 
 

4. Try to understand the new words. 
 

5. Learn all the key words given at the end of each chapter. 

 

B. ASSIGNMENT: -  

 

Do the following exercises in your old note book/activity sheets/any 

other note book available at home. 

 

1. Exercise for Chapter 5 – ‘Our School’ : -  

 

a. Exercise A – Fill in the blanks on page 26 

b. Exercise B – Write true or false on page 27. 

c. Give one word answers: -  

i) A person who helps us to go to the toilet and cleans 

the classroom. 



ii) In olden days the student was also known by this 

word. 

iii) A written account of something. 

iv) He also does small jobs for the principal. 

d. Answer the following questions: -  

i) Why do we go to school? 

ii) What does the teacher do in school? 

iii) Write two ways in which we can keep our school 

neat and clean. 

  

2. Exercise for Chapter 6 – ‘Our Country’: -  

 

a. Exercise A – Match the rows on page 30. 

b. Exercise B – Fill in the blanks on page 31. 

c. Give one word answers: - 

i) A drawing of a town, country, etc. 

ii) An area of land with its own people and its own set 

of rules. 

iii) The most important city in the country. 

iv) A mark, sign or picture that shows something. 

v) The official song of a country that is sung by 

everyone on special days. 

d. Answer the following questions: -  

i) Name the country, you live in, and its capital city. 

ii) What do the three different colours in a national 

flag mean? 

iii) What do the wheel on our national flag mean?  

 

Note: - Write the answers in one word with the help of the key words. 



 

C.  ACTIVITY: -  

 

      Chapter 5 - Draw a picture of your school and colour it. 

      Chapter 6 - Draw the national flag and the national flower of India. 

 

Video tutorials: -  

 For Chapter 5: -  1) https://youtu.be/uFEdl3tsPFM 

     2) https://youtu.be/qCpukPRobXQ 

 

 For Chapter 6: -  1) https://youtu.be/Ywf2InhxcyM 

 

 

 

 

 

 

 

 

 

 

 

 

https://youtu.be/uFEdl3tsPFM
https://youtu.be/qCpukPRobXQ
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J.T. GOLDEN JUBILEE SCHOOL

CLASS - 2

SUBJECT- HINDI

BOOK - �रम�झम भाग (2)

PUBLISHED BY - NCERT

> OPEN GOOGLE PLAY STORE

> SEARCH NCERT �कताब�और समाधान ।

> DOWNLOAD NCERT क� �कताब�

> क�ा - 2 क� �कताब�

> �रम�झम 2

> य�ूनट - 5 ," दो�त क� मदद "

Do exercises : (�कसक� चाल), (मलुायम नरम )

Video link :

https://youtu.be/Gliod_5uATE

पाठ 3 & 4 क� 【अ�यास प�ु�तका】 का काय�पणू�कर�

य�ूनट -3 ( �याऊँ �याऊंँ)

य�ूनट -4 ( अ�धक बलवान कौन)



















46/32B, A.N. JHA MARG, GEORGE TOWN, PRAYAGRAJ 0532-2468802 www.jtgjschool.in

GOLDEN JUBILEE SCHOOL

Session 2020-21

Class- II

Subject: Hindi

Video Link

Follow the Instructions given below:-

To access the video tap the following link:

Visit link: https://youtu.be/Gliod_5uATE



JAGAT TARAN GOLDEN JUBILEE SCHOOL

Session :- 2020-2021

Class - 2

Subject - Maths

Book - Maths wiz

Follow the instructions given below :-

(1) Visit the school website i.e. www.jtgjschool.in and download study material from there.

(2) Open the pdf.

(3) Open

Chapter 5 - MULTIPLICATION (Pg nos. - 77 to 105).

Do the exercises from 5A to 5N in the notebook.

(4) Open

Chapter 6 - MORE ON MULTIPLICATION (Pg nos. - 106 to 113).

Do the exercises from 6A to 6F in the notebook.

(5) Write the numerals and number names from 600-700 in the notebook.

NOTE :-

1. Do the given exercises in any old notebook or your previous school diary available at home.



2. Before solving the exercises kindly watch the videos thoroughly and go through the matter
given in the pdf before that particular exercise.

3. Do not hurry in solving the exercises. First comprehend the questions carefully.

Video tutorials of the lesson :-

To access the videos tap on the following links -

1. For Chapter 5 -

A) Multiplication Concepts -

i) https://youtu.be/dPksJHBZs4Q

ii) https://youtu.be/uacFH2oLj9M

B) https://youtu.be/j74Lvy1kWYE

C) Properties of Multiplication - https://youtu.be/Lv6TpK-3BFI

2. For Chapter 6 -

A) Multiplication of 2 digit by 1 digit -

i) Without carry - https://youtu.be/Yo_6G5TrNqo

ii) With carry - https://youtu.be/k3JRTxFZZIs

B) Multiplication of 3 digit by 1 digit -

i) Without carry - https://youtu.be/PEITqCNwRZ0



ii) With carry - https://youtu.be/TqRReFvbpXA

iii) https://youtu.be/tYgVICdJ5fg

C) Multiplication by 10, 20....100 - https://youtu.be/iOsysghGhPg

Thank youЄ
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MathsWiz–2

Multiplication5

REPEATED ADDITION

�There are 5 twos in all. Their sum is 10.
2 + 2 + 2 + 2 + 2 equals 10.
2 has been added 5 times.
5 twos are 10 or 5 times 2 equals 10.

The short way of thinking about repeated addition is called multiplication.
We say that 5 times 2 equals 10 or 5 multiplied by 2 is 10 and we write  
5 × 2 = 10. 10 is called the product of 5 and 2. The numbers 5 and 2 are 
called factors.
'×' is the sign of multiplication.

Warm Up
How many pencils do you have?

Yes, I have 4 times 3 
= 12 pencils.

I have 4 boxes each 
having 3 pencils.

	 Multiply
	 Multiplication
	 Repeated Addition
	 Product
	 Factors

Vocabulary

So, you have  
3 + 3 + 3 + 3 
= 12 pencils.
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The given picture shows 3 rows of 4 eggs each.
We have 4 eggs + 4 eggs + 4 eggs = 12 eggs 
or 4 + 4 + 4 = 12, that is there are 3 fours. 
We say 3 times 4 equals 12 or 3 multiplied 
by 4 equals 12 and write

3 × 4 = 12 is a multiplication fact.

EXERCISE 5A

1.	 Write the multiplication fact for the objects of each row.

(a)

(b)

(c)

(d)

(e)

3 × 4 = 12
   3 
× 4 
 12

3 × 2 = 6

or
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(f)

(g)

(h)

2.	 Write the multiplication form of each of the following repeated additions.

	 (a)	 2 + 2 + 2 + 2	 =	 4 × 2 = 8 	

	 (b)	 4 + 4	 =	

	 (c)	 3 + 3 + 3 + 3 + 3	 =	

	 (d)	 6 + 6 + 6 + 6 + 6 + 6 + 6	 =	

	 (e)	 7 + 7 + 7 + 7 + 7 + 7 + 7 + 7 + 7 + 7	 =	

	 (f)	 9 + 9 + 9 + 9 + 9 + 9	 =	

	 (g)	 10 + 10	 =	

	 (h)	 1 + 1 + 1 + 1 + 1 + 1 + 1 + 1	 =	

	 (i)	 8 + 8 + 8 + 8 + 8 + 8 + 8 + 8 + 8	 =	
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MULTIPLICATION ON THE NUMBER LINE

0 1 2

+2 +2

3 4 5 6 7 8 9 10

+2

How many jumps are made by the frog?	
How big is each jump?	
We can write 2 + 2 + 2 = 6 or 3 × 2 = 6.
Now, observe the following.

0 1 2 3 4 5 6 7 8 9 10

+5

11 12 13 14 15 16 17 18 19 20

+5 +5 +5

4 × 5 =  

Start at 0. 		  Hop 5, four times. 			   Stop at 

5 +	 5 + 5 + 5 = .   4 fives equal .		  4 times 5 equals .

0 1 2

+3

3 4 5 6 7 8 9 10

+3

2 × 3 = 6

Start at 0. 		  Hop 3, two times. 			   Stop at 6.  

3 +	 3 = 6 .		  2 threes equal 6  .		  2 times 3 equals 6 .

0 1 2 3 4 5 6 7 8 9 10

+2

11 12 13 14 15 16 17 18 19 20

+2 +2 +2 +2 +2 +2 +2 +2

9 × 2 = 

Start at 0. 		  Hop 2, nine times. 			  Stop at 

2 +	 2 + 2 + 2 + 2 +	 2 + 2 + 2 + 2 = .		  9 times 2 equals .
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Write the multiplication fact for each number line.

EXERCISE 5B

1.

 5 × 2 = 10

6 × 5  	=
3 × 10	 =

0 1 2 3 4 5 6 7 8 9 10

+2 +2 +2 +2 +2

0 1 2 3 4 5 6 7 8 9 10

+9

1112 13 14 15 16 17 18 19

+9

20

0 1 2 3 4 5 6 7 8 9 10

+4

1112 13 14 15 16 17 18 19

+4

20

+4 +4 +4

0 1 2 3 4 5 6 7 8 9 10

+2

1112 1314 1516 17 18 1920

+2 +2 +2 +2 +2 +2 +2 +2 +2

0 5 10 15 20 25 30 35 40

+10 +10 +10

+5 +5 +5 +5 +5 +5

2.

3.

4.

5.

0 4 8 12 16 20 24 28 32 36 40 44 48 52 56 60

+4

+8

+4 +4 +4 +4 +4 +4 +4 +4 +4

+8 +8 +8 +8

6.
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PROPERTIES OF MULTIPLICATION
1.	 Order property
	 Study the following.

Since the product is the same, we have 3 × 2 = 2 × 3 = 6.	

Now, look at the following.

There are 3 rows of 4 footballs each. The 
multiplication fact for this is 3 × 4 = 12
We can also think that there are 4 columns of 
3 footballs each. The multiplication fact for this 
is 4 × 3 = 12.

Since product is the same in both the cases, we have 3 × 4 = 4 × 3 = 12

We can show this using a number line as shown below.

0 1 2 3 4 5 6 7 8 9 10 11 12

3 × 4 = 12

4 × 3 = 12

2 + 2 + 2 = 6 
or 3 twos are 6. 
3 × 2 = 6. 

3 + 3 = 6 	
2 threes are 6 	
2 × 3 = 6. 

From the above discussion we come to the following result.
We may multiply the numbers in any order, the product would be the same.
This basic property of multiplication is called the Order Property of 
Multiplication.
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2.	 Multiplying by 1
	 3 groups of 1 = 3 × 1 = 1 + 1 + 1 = 3
	 1 group of 3 = 1 × 3 = 3
	 So, 3 × 1 = 1 × 3 = 3
	 We can show the above results using a number line as shown.

	 From the above discussion, we come to the following result.
	 Any number multiplied by 1 equals that number. This is called the 

Multiplicative Property of 1.

3.	 Multiplying by 0

	 There are 4 empty trays, which means 4 groups of nothing.
	 So, 4 × 0 = 0. Also by order property 4 × 0 = 0 × 4 = 0
	� Thus, any number multiplied by 0 equals 0. This is called Multiplicative 

Property of 0.

Fill in the boxes with the correct numbers.

	 1.	 2 × 6 =  × 2	 2.	 3 × 1 =  × 3

	 3.	 4 × 8 =  × 4	 4.	 9 × 2 = 2 ×  

	 5.	  × 9 = 9 × 5	 6.	 7 × 6 = 6 × 	

	 7.	 6 × 1 = 	 8.	  × 7= 7	 

	 9.	 9 ×  = 9	 10.	 2 × 0 = 	

	11.	 0 × 6 = 	 12.	  × 5 = 0

EXERCISE 5C

0 1 2 3

3 × 1

1 × 3
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MULTIPLICATION TABLES

Repeated addition by 2s

5 groups of 2 strawberries each.
2 + 2 + 2 + 2 + 2 = 10
We say 5 twos are 10 or 5 times 2 is 10 or 5 multiplied by 2 is 10 and 
write 5 × 2 = 10.

Table of 2

2

2 + 2 = 4

2 + 2 + 2 = 6

2 + 2 + 2 + 2 = 8

2 + 2 + 2 + 2 + 2 = 10

2 + 2 + 2 + 2 + 2 + 2 = 12

2 + 2 + 2 + 2 + 2 + 2 + 2 
� = 14
2 + 2 + 2 + 2 + 2 + 2 + 2 
+ 2� = 16
2 + 2 + 2 + 2 + 2 + 2 + 2 
+ 2 + 2� = 18

2 + 2 + 2 + 2 + 2 + 2 + 2 
+ 2 + 2 + 2� = 20

2 added 1 time 
1 × 2 = 2
2 added 2 times	
2 × 2 = 4
2 added 3 times 
3 × 2 = 6
2 added 4 times 
4 × 2 = 8
2 added 5 times 
5 × 2 = 10
2 added 6 times 
6 × 2 = 12
2 added 7 times 
7 × 2 = 12
2 added 8 times 
8 × 2 = 16
2 added 9 times 
9 × 2 = 18
2 added 10 times 
10 × 2 = 20

© S C
ha

nd
 an

d C
om

pa
ny

 Pvt 
Ltd



85

MathsWiz–2

1.	 Complete the table of 2.
	 (a)	  Multiplying by 2

1 two is 2	 1 × 2 = 2

2 twos are 4	 2 × 2 = 

3 twos are 	 3 × 2 = 6

4 twos are 8	 4 × 2 = 

5 twos are 	 5 × 2 = 10

6 twos are 12	 6 × 2 = 12

7 twos are 14	 7 × 2 = 

8 twos are 16	 8 × 2 = 16

9 twos are 	 9 × 2 = 18

10 twos are 20	 10 × 2 = 

       (b)    2 times table

2 times 1 is 2	 2 × 1 = 

2 times 2 is 4	 2 × 2 = 4

2 times 3 is 6	 2 × 3 = 

2 times 4 is 	 2 × 4 = 8

2 times 5 is 10	 2 × 5 = 10

2 times 6 is 12	 2 × 6 = 

2 times 7 is 	 2 × 7 = 14

2 times 8 is 16	 2 × 8 = 

2 times 9 is 	 2 × 9 = 18

2 times 10 is 20	 2 × 10 = 

2.	 Count by 2s from 2 to 20.

	 2 4
3.	 Count backwards by 2s from 20 to 2.

	 20 18

4.	 Complete the multiplication wheel.

5.	 A bee has 2 wings. How many wings do 6 bees have?�

EXERCISE 5D

8
714
6

5 4 3
2
1

0
9 10

× 2
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6.	� Two toffees can be bought for 1 rupee. How many toffees can be bought for 
4  rupees?�

7.	 How many ears do 10 children have?	�

Repeated addition by 3s

4 groups having 3 stars each.
3 + 3 + 3 + 3 = 12
We say three 4 times or 4 threes are 12 and write 4 × 3 = 12.

Repeated Addition Multiplying by 3 3 times table

3 1 three is 3 1 × 3 = 3 3 times 1 is 3 3 × 1 = 3

3 + 3 = 6 2 threes are 6 2 × 3 = 6 3 times 2 is 6 3 × 2 = 6

3 + 3 + 3 = 9 3 threes are 9 3 × 3 = 9 3 times 3 is 9 3 × 3 = 9

3 + 3 + 3 + 3 = 12 4 threes are 12 4 × 3 = 12 3 times 4 is 12 3 × 4 = 12

3 + 3 + 3 + 3 + 3 = 15 5 threes are 15 5 × 3 = 15 3 times 5 is 15 3 × 5 = 15

3 + 3 + 3 + 3 + 3 + 3 
= 18 6 threes are 18 6 × 3 = 18 3 times 6 is 18 3 × 6 = 18

3 + 3 + 3 + 3 + 3 + 3 
+ 3 = 21 7 threes are 21 7 × 3 = 21 3 times 7 is 21 3 × 7 = 21

3 + 3 + 3 + 3 + 3 + 3 
+ 3 + 3 = 24 8 threes are 24 8 × 3 = 24 3 times 8 is 24 3 × 8 = 24

3 + 3 + 3 + 3 + 3 + 3 
+ 3 + 3 + 3 = 27 9 threes are 27 9 × 3 = 27 3 times 9 is 27 3 × 9 = 27

3 + 3 + 3 + 3 + 3 + 3 
+ 3 + 3 + 3 + 3 = 30 10 threes are 30 10 × 3 = 30 3 times 10 is 30 3 × 10 = 30

Table of 3

© S C
ha

nd
 an

d C
om

pa
ny

 Pvt 
Ltd



87

MathsWiz–2

1.	 Complete the table of 3.
	 (a) Multiplying by 3

1 three is 3	 1 × 3 = 

2 threes are 	 2 × 3 = 6

3 threes are 9	 3 × 3 = 

4 threes are 	 4 × 3 = 12

5 threes are 15	 5 × 3 = 

6 threes are 18	     6 ×  = 18

7 threes are 21	 7 ×  = 21

8 threes are 24	 8 × 3 = 

9 threes are 27	  × 3 = 27

10 threes are 30	 10 × 3 = 30

   ( b)  3 times table

3 times 1 is 	 3 × 1 = 3

3 times 2 is 6	 3 × 2 = 6

3 times 3 is 9	 3 × 3 = 

3 times 4 is 	 3 × 4 = 12

3 times 5 is 15	 3 ×  = 15

3 times 6 is 	 3 × 6 = 18

3 times 7 is 21	 3 × 7 = 

3 times 8 is 24	 3 ×  = 24

3 times 9 is 27	 3 × 9 = 27		

3 times 10 is 30	 3 ×  = 30

 

2.	 Count by 3s from 3 to 30.
	 3

3.	 Count backwards by 3s from 30 to 3.
	 30

4.	 Complete the multiplication 	  	 5.   Kavita reads 3 pages of a book daily.
	 wheel.	 					          How many pages will she read in 		
								             9 days?	 

6.	� Ramesh made 5 groups of 3 notebooks each. How many notebooks are there 
in all?

EXERCISE 5E

8
7

12

6
5 4 3

2
1

0
9 10

×3

© S C
ha

nd
 an

d C
om

pa
ny

 Pvt 
Ltd



88

MathsWiz–2

Repeated addition by 4s

3 candle stands having 4 candles each.
4 + 4 + 4 = 12
We say four 3 times or 3 fours are 12 and write
 3 × 4 = 12.

EXERCISE 5F

1.	 Complete the table of 4.

Repeated Addition Multiplying by 4 4 times table

4 1 four is 4 1 × 4 = 4 4 times 1 is 4 4 × 1 = 4

4 + 4 2 fours are 2 × 4 = 8 4 times 2 is 8 4 ×  = 8

4 + 4 + 4 3 fours are 12 3 × 4 = 4 times 3 is 12 4 × 3 = 12

4 + 4 + 4 + 4 4 fours are 16 4 × 4 = 16 4 times 4 is 16 4 × 4 = 

4 + 4 + 4 + 4 + 4 5 fours are 5 × 4 = 20 4 times 5 is 20 4 ×  = 20

4 + 4 + 4 + 4 + 4 + 4 6 fours are 24 6 × 4 = 4 times 6 is 24 4 × 6 = 24

4 + 4 + 4 + 4 + 4     
+ 4 + 4 7 fours are 28 7 × 4 = 28 4 times 7 is 28 4 × 7 = 

4 + 4 + 4 + 4 + 4      
+ 4 + 4 + 4 8 fours are 32 8 × 4 = 32 4 times 8 is 32 4 × 8 = 32

4 + 4 + 4 + 4 + 4      
+ 4 + 4 + 4 + 4

9 fours are 9 × 4 = 4 times 9 is 36 4 ×  = 36

4 + 4 + 4 + 4 + 4   
+ 4 + 4 + 4 + 4 + 4

10 fours are 10 × 4 = 40 4 times 10 is 40  × 10 = 40

Table of 4
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Table of 5

Repeated addition by 5s

4 baskets of 5 fruits each.
5 + 5 + 5 + 5 = 20
We say five 4 times or 4 fives are 20 and write 4 × 5 = 20.

2.	 Count by 4s from 4 to 40. 

	 4
3.	 Count backwards by 4s from 40 to 4.

	 40
4.	 Complete the multiplication wheel.

8
7

20

6
5 4 3

2
1

0
9 10

×4

5.	� A cat has 4 legs. How many legs do 3 cats 
have? �

6.	� A box has 4 erasers. How many erasers do 
8 boxes have? �

7.	 A square has 4 sides. A triangle has 3 
sides. Which have more sides – 4 squares 
or 6 triangles? By how much? �
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6.	 Show 5 × 4 = 20 on the given number line.

	 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20

7.	 Write the number just after the product in each case.

	 (a) 1 × 5 		  (a) 5 × 8 		  (c) 10 × 5 

Repeated addition by 6s

5 bunches each having 6 bananas
6 + 6 + 6 + 6 + 6 = 30
We say six 5 times or 5 sixes are 30 and write 5 × 6 = 30.

1.	 Complete the table of 6.

Repeated Addition Multiplying by 6 6 times table

6 1 six is 6 1 × 6 = 6 times 1 is 6 6 × 1 = 6

6 + 6 2 sixes are 12 2 × 6 = 12 6 times 2 is 12 6 × 2 = 12

6 + 6 + 6 3 sixes are 18 3 × 6 = 18 6 times 3 is 18 6 × 3 = 

6 + 6 + 6 + 6 4 sixes are 24 4 × 6 = 24 6 times 4 is 24 6 × 4 = 24

6 + 6 + 6 + 6 + 6 5 sixes are 30 5 × 6 = 6 times 5 is 30 6 × 5 = 

6 + 6 + 6 + 6 + 6 + 6 6 sixes are 36 6 × 6 = 36 6 times 6 is 36 6 × 6 = 36

6 + 6 + 6 + 6 + 6 + 6 + 6 7 sixes are 42 7 × 6 = 42 6 times 7 is 42 6 × 7 = 42
6 + 6 + 6 + 6 + 6 + 6   
+ 6 + 6 8 sixes are 48 8 ×  = 48 6 times 8 is 48 6 × 8 = 

6 + 6 + 6 + 6 + 6 + 6    
+ 6 + 6 + 6 9 sixes are 54 9 × 6 = 6 times 9 is 54 6 × 9 = 54

6 + 6 + 6 + 6 + 6 + 6    
+ 6 + 6 + 6 + 6 10 sixes are 60 10 × 6 = 60 6 times 10 is 60 6 × 10 = 60

EXERCISE 5H

Table of 6
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Repeated addition by 7s

4 groups of 7 frogs each.
7 + 7 + 7 + 7 = 28
We say seven 4 times or 4 sevens are 28 and write 4 × 7 = 28.

2.	 Count by 6s from 6 to 60.

	 6
3.	 Count backwards by 6s from 60 to 6.

	 60

4.	 Complete the multiplication wheel.

5.	 A lady bug has 6 legs and a spider has 8 legs. How many 
legs in all do 6 lady bugs and 5 spiders have? 

6.	 Write the number that comes before each product.

7.	 Write the numbers counting by threes between 6 × 6 and 6 × 8. 

8
7

54

6
5 4 3

2
1

0
9 10

×6

3 × 6

17

7 × 6 4 × 6 8 × 6

Table of 7
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1.	 Complete the table of 7.

Repeated Addition Multiplying by 7 7 times table

7 1 seven is 7 1 × 7 = 7 7 times 1 is 7 7 × 1 = 7

7 + 7 2 sevens are 14 2 × 7 = 14 7 times 2 is 14 7 × 2 = 

7 + 7 + 7 3 sevens are 21 3 × 7 = 21 7 times 3 is 21 7 × 3 = 21

7 + 7 + 7 + 7 4 sevens are 28 4 × 7 = 28 7 times 4 is 28 7 × 4 = 

7 + 7 + 7 + 7 + 7 5 sevens are 35 5 ×  = 35 7 times 5 is 35 7 × 5 = 35

7 + 7 + 7 + 7 + 7 + 7 6 sevens are 42 6 × 7 = 42 7 times 6 is 42 7 × 6 = 

7 + 7 + 7 + 7 + 7 + 7 + 7 7 sevens are 49 7 × 7 = 49 7 times 7 is 49 7 × 7 = 49
7 + 7 + 7 + 7 + 7 + 7 + 
7 + 7 8 sevens are 56 8 × 7 = 7 times 8 is 56 7 × 8 = 56

7 + 7 + 7 + 7 + 7 + 7 + 
7 + 7 + 7 9 sevens are 63 9 × 7 = 63 7 times 9 is 63 7 × 9 = 

7 + 7 + 7 + 7 + 7 + 7 + 
7 + 7 + 7 + 7 10 sevens are 70 10 × 7 = 7 times 10 is 70 7 × 10 = 

2.	 Count by 7s from 7 to 70.
	 7

3.	 Count backwards by 7s from 70 to 7.
	 70

4.	 Complete the multiplication wheel.

EXERCISE 5I

8
7

35

6
5 4 3

2
1

0
9 10

×7
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5.	 Multiply:

× 4 1 5
7 28

		  × 6 2 8
7 42

6.	 7 days make a week. How many days will be there in 6 weeks? 
7.	 Fill in the blanks.
	 (a)	 7 × 2 + 7 × 4 = 7 ×	_____	 (b)	 9 × 7 – 6 × 7 =  _____ × 7

Table of 8
Repeated addition by 8s

4 boxes each having 8 pencils. 8 + 8 + 8 + 8 = 32
We say eight 4 times or 4 eights are 32 and write 4 × 8 = 32.

EXERCISE 5J

1.	 Complete the table of 8.

Repeated Addition Multiplying by 8 8 times table

8 1 eight is 8 1 × 8 = 8 8 times 1 is 8 × 1 = 8

8 + 8 2 eights are 16 2 × 8 = 8 times 2 is 16 8 × 2 = 

8 + 8 + 8 3 eights are 24 3 × 8 = 24 8 times 3 is 8 × 3 = 24

8 + 8 + 8 + 8 4 eights are 32 4 × 8 = 8 times 4 is 32 8 × 4 = 

8 + 8 + 8 + 8 + 8 5 eights are 40 5 × 8 = 40 8 times 5 is 8 × 5 = 40

8 + 8 + 8 + 8 + 8 + 8 6 eights are 48 6 × 8 = 48 8 times 6 is 48 8 × 6 = 48

8 + 8 + 8 + 8 + 8 + 8 + 8 7 eights are 56 7 × 8 = 56 8 times 7 is 56 8 ×  = 56

8 + 8 + 8 + 8 + 8 + 8 
+ 8 + 8 8 eights are 64 8 × 8 = 8 times 8 is 64 8 × 8 = 64

8 + 8 + 8 + 8 + 8 + 8 + 
8 + 8 + 8 9 eights are 72 9 × 8 = 72 8 times 9 is 8 × 9 = 

8 + 8 + 8 + 8 + 8 + 8 + 
8 + 8 + 8 + 8 10 eights are 80 10 × 8 = 80 8 times 10 is 80 8 × 10 = 80

© S C
ha

nd
 an

d C
om

pa
ny

 Pvt 
Ltd



95

MathsWiz–2

8
7

72

6
5 4 3

2
1

0
9 10

×8

24

16

48

72

56

40

8

80

32

2.	 Count by 8s from 8 to 80. 
	 8

3.	 Count backwards by 8s from 80 to 8.
	 80

4.	 Complete the multiplication wheel.

5.	 Vivek is 5 years old. His father is 8 times older than him.	   
    	How old is the father?
6.	 Multiply and match. One has been done for you.

7.	 Which is the missing multiplication fact from the table of 8 in question 6?  

2 × 8

7 × 8

4 × 8

8 × 6

8 × 10

3 × 8

9 × 8

8 × 1
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Table of 9
Repeated addition by 9s

3 heaps having 9 dice each.
9 + 9 + 9 = 27
We say nine 3 times or 3 nines are 27 and write 3 × 9 = 27.

EXERCISE 5K
1.	 Complete the table of 9.

Repeated Addition Multiplying by 9 9 times table

9 1 nine is 9 1 × 9 = 9 times 1 is 9 9 × 1 = 9

9 + 9 2 nines are 18 2 × 9 = 18 9 times 2 is 9 × 2 = 18

9 + 9 + 9 3 nines are 27 3 × 9 = 27 9 times 3 is 27 9 × 3 = 

9 + 9 + 9 + 9 4 nines are 36 4 × 9 = 9 times 4 is 36 9 × 4 = 36

9 + 9 + 9 + 9 + 9 5 nines are 45 5 × 9 = 45 9 times 5 is 45 9 × 5 = 

9 + 9 + 9 + 9 + 9 + 9 6 nines are 54 6 × 9 = 9 times 6 is 54 9 × 6 = 54

9 + 9 + 9 + 9 + 9 + 9 + 9 7 nines are 63 7 × 9 = 63 9 times 7 is 63 9 × 7 = 63

9 + 9 + 9 + 9 + 9 + 9 
+ 9 + 9 8 nines are 72 8 × 9 = 72 9 times  is 72 9 × 8 = 

9 + 9 + 9 + 9 + 9 + 9 + 
9 + 9 + 9 9 nines are 81 9 × 9 = 9 times 9 is 81 9 × 9 = 81

9 + 9 + 9 + 9 + 9 + 9 + 
9 + 9 + 9 + 9 10 nines are 90 10 × 9 = 9 times 10 is 90 9 × 10 = 90
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8
7

18
6

5 4 3
2
1

0
9 10

×9

9
8 7

6 5

2.	 Count by 9s from 9 to 90. 
	 9
3.	 Count backwards by 9s from 90 to 9.
	 90

4.	 Complete the multiplication wheel.

5.	 Complete each multiplication fact. Then show on the number line.
	 2 × 9 = _______
	

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20

	 9 × 2 = ______
	

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20

6.	 Compare and write < , > or = in each .

	 (a)	 9 × 3  8 × 4 	 (b)	 5 × 9  7 × 6	 (c)	 9 × 2  6 × 3 	

Table of 10
Repeated addition by 10s

4 bunches of 10 flowers each.
10 + 10 + 10 + 10 = 40
We say ten 4 times or 4 tens are 40 and write 4 × 10 = 10.
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EXERCISE 5L

1.	 Complete the table of 10.

Repeated Addition Multiplying by 10 10 times table

10 1 ten is 10 1 × 10 = 10 10 times 1 is 10 10 × 1 = 10

10 + 10 2 tens are 20 2 × 10 = 20 10 times 2 is 20 10 × 2 = 20

10 + 10 + 10 3 tens are 30 3 × 10 = 30 10 times 3 is 30 10 × 3 = 30

10 + 10 + 10 + 10 4 tens are 40 4 × 10 = 10 times 4 is 40 10 × 4 = 40

10 + 10 + 10 + 10 + 10 5 tens are 50 5 × 10 = 50 10 times 5 is 50 10 × 5 = 

10 + 10 + 10 + 10 + 10 
+ 10 6 tens are 60 6 × 10 = 10 times 6 is 60 10 × 6 = 60

10 + 10 + 10 + 10 + 10 
+ 10 + 10 7 tens are 70 7 × 10 = 70 10 times 7 is 70 10 × 7 = 70

10 + 10 + 10 + 10 + 10 
+ 10 + 10 + 10 8 tens are 80 8 × 10 = 80 10 times 8 is 80 10 × 8 = 

10 + 10 + 10 + 10 + 10 
+ 10 + 10 + 10 + 10 9 tens are 90 9 × 10 = 10 times 9 is 90 10 × 9 = 90

10 + 10 + 10 + 10 + 10 + 
10 + 10 + 10 + 10 + 10 10 tens are 100 10 × 10 = 100 10 times 10 is 100 10 × 10 = 100

2.	 Count by 10s from 10 to 100. 
	 10

3.	 Count backwards by 10s from 100 to 10.
	 100

4.	 Complete the multiplication wheel.

8
7

60 6
5 4 3

2
1

0
9 10

×10
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5.	 Fill in the blanks.
	 (a)	 0 × 10 =	 __________		  (b)	 9 × 10 = __________
	 (c)	 4 × 10 = __________	 	 (d)	 6 × 5 = _______ × 10		
	 (e)	 10 eights = __________		  (f)	 2 less than 7 × 10 = __________

6.	 There are 10 pencils in a pencil stand. 
	 How many pencils are there in 

3  such stands?	

7.	 A doctor sees 5 poor patients everyday for free so as to help the needy. How many 
patients does the doctor see for free in 10 days? What moral value is shown by 
the doctor?�  [Value Based Question]  

TABLE OF MULTIPLICATION FACTS
Memorise the multiplication facts by using the combined multiplication table.

× 1 2 3 4 5 6 7 8 9 10

1 1 2 3 4 5 6 7 8 9 10

2 2 4 6 8 10 12 14 16 18 20

3 3 6 9 12 15 18 21 24 27 30

4 4 8 12 16 20 24 28 32 36 40

5 5 10 15 20 25 30 35 40 45 50

6 6 12 18 24 30 36 42 48 54 60

7 7 14 21 28 35 42 49 56 63 70

8 8 16 24 32 40 48 56 64 72 80

9 9 18 27 36 45 54 63 72 81 90

10 10 20 30 40 50 60 70 80 90 100
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EXERCISE 5M

1.	 Complete the multiplication facts.

	 (a)	 4 × 5	 =	 20 	 (b)	 8 × 3	 =	 	 (c)	 7 × 2	 =	

	 (d)	 6 × 8	 =	 	 (e)	 3 × 0	 =	 	 (f) 	 9 × 3	 =	

	 (g)	 9 × 10	 =	 	 (h)	 8 × 5	 =	 	 (i) 	 10 × 6	=	

	 (j)	 5 × 3	 =	 	 (k)	 7 × 8	 =	 	 (l) 	 8 × 4	 =	

	 (m)	 7 × 6	 =	 	 (n)	 9 × 5	 =	 	 (o) 	 6 × 0	 =	

2.	 Fill in the boxes with the correct numbers.

	 (a)	 5 × 7 = 7 × 5 = 		  (b)	 7 × 9 =  = 63

	 (c)	 6 × 8 = 8 × 6 = 		  (d)	  = 1 × 8 = 8

	 (e)	 7 × 2 =  = 14 		 (f)	 4 × 6 = 6 × 4 = 

3.	 Write the number just after:

	 (a)	 2 × 4 	 (b)	 7 × 9	 	 (c)	 1 × 8	 	 (d)	 5 × 5	

4.	 Write the number just before:

	 (a)	 4 × 4	 	 (b)	 9 × 8	 	 (c)	 4 × 7	 	 (d)	 2 × 7	

5.	 Write the numbers between:

	 (a)	 3 × 6 and 4 × 6 _______________	 (b)	 8 × 8 and 8 × 9 _______________

6.	 Find the rule and complete the pairs.

	
5, 25 2, 10 4, 3, 8, 9, 
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WORD PROBLEMS
Example:	 There are 6 chairs in each row in a classroom. How many 

chairs are there in 4 rows?
Solution:	 To find the number of chairs in 4 rows, we multiply 4 by 6.
	 4 × 6 = 24
	 So, there are 24 chairs in all.

EXERCISE 5N

Solve the following problems.                                                   Workspace

1.	� You go to school 5 days each week. 
How many days do you go to school 
in 4 weeks?

2.	� Some families are going on a picnic. 
If 5 people ride in each car and there 
are 3 cars, then how many people 
are going on a picnic?

3.	� Shikha bakes 7 cakes for a party. Each 
cake has 7 cherries on it. How many 
cherries are there on 7 cakes?

4.	� Sanjeev is 8 years old. His grandmother 
is 8 times his age. How old is Sanjeev’s 
grandmother?
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Class Work

Write the correct symbol in each .

A.	 Use the symbol +, – or ×.	   	   B.	 Use the symbol =, < or > .

	 1.	 5  3 = 8	 1.	 139 + 11  148

	 2.	 9  7 = 2	 2.	 48 – 25  25

	 3.	 5  8 = 40	 3.	 9 × 4  15

	 4.	 2  2  2 = 3 × 2	 4.	 2 tens 7 ones   9 × 3

	 5.	 6  6 < 2	 5.	 1 + 1 +1 + 1 + 1  5 × 1

	 6.	 3  3 > 8	 6.	 9 + 1   10 × 1

5.	� There were 5 tables laid for a 
party. At each table, 10 people 
were seated. How many people 
were there in all?

6.	� How many wheels are there on 8 cars 
if each car has 4 wheels?

7.	� How many rupees do you pay for 
7 dolls if each doll costs 8 rupees?
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CHAPTER TEST

1.	 Match the following.

	 (a)	 28 	 (b)	 90       (c)  72 	 (d) 	 8 	 (e)	 0

	 (i)	  9 × 8 	 (ii)	  8 × 0      (iii)	  4 × 2 	 (iv)	 9 × 10 	 (v)	  7 × 4

Tick (ü) the correct answer.

2.	 Seema has 4 boxes of picture cards. There are 8 cards in each box. Which sentence 
tells how many cards Seema has in all?

	 (a) 4 + 8 = 12  (b) 4 × 6 = 24 	  (c) 4 × 8 = 32 	 (d) 4 × 12 = 48 
3.	 Which two number sentences does the number line show?

	 0 1 2 3 4 5 6 7 8 9 10

	 (a)  2 + 4 = 6		  (b)  2 + 2 + 2 = 6	 (c) 3 × 2 = 6

Tick (ü) the correct option.
4.	 An octopus has 8 arms. To know the number of arms 5 octopuses have, you will
	 (a)  add 		  (b)  multiply 	 (c) subtract 	
5.	 Cross out the statement which does not match 3 × 8.
	 (a)  3 groups of 8  (b)  8 groups of 3  (c) 8 + 8 + 8   (d) 3 eights 

6.	 The numbers in the diagram form a pattern. 
	 What is the missing number ?

	 (a)  2 	 		  (b)  18 	 		
	 (c)  9 	 	  	 (d)  42 	

7.	 7   4 = 8 × 5 – 2 sixes. What is the missing sign?

	 (a)  + 	 	 		  (b)  × 	 		  (c)  –   	  

40
20
?

45 108
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Mental Maths

Fill in the blanks and boxes.
1.	 3 sixes = 2 	 2.	 9 times 8 + 8 =   tens

3.	 If  is 6, then + + + + +  =  = 4 × 

4.	 What will be the next four numbers in the given skip counting pattern?
		  55, 50   ,  ,  , 	

5.	  × 10 = 0	 6.	 9 × 9 =  ones

HOTS
1.	 I am a 2-digit number.				  
2.	 I am less than 50.
3.	 Count in sixes and there I am !
4.	 When you divide my tens digit by my ones digit you get 2.
	 Who am I?

Across
	 6.	  sevens = 28
	 7.	 8 ×  = 64
	 8.	 3 times 6 = 
	 9.	 5 × 4 = 2 × 
	10.	  × 5 = 45
	11.	 10 × 9 = 
Down
	 1.	 Double of 7
	 2.	 Successor of 5 times 3
	 3.	  × 9 = 63
	 4.	 5 ×  = 40
	 5.	 6 fives = 

2

1

3

5

4

7

9

8

6

10 11

Worksheet

Crossword
Fill in the blanks in the given clues. Then complete the crossword by writing the 
answers in words. We have filled some blanks to guide you.

F
O

U

RUOF

T

E

E

N I N E T Y
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Activity

An array is a group of objects in rows and columns. An array can be used to represent 
a multiplication fact. Observe the following example.
3 rows of 4 buttons can be shown as:

	 3 rows of 4 buttons each = 4 + 4 + 4
	 = 3 × 4
	 = 12
Similarly, 4 rows of 3 buttons can be shown as:

	 4 rows of 3 buttons each = 3 + 3 + 3 + 3
	 =	4 × 3
	 = 12
	Now, using this concept of arrays, you have to design a quilt in the given grid using 
6 different colours. Each colour represents a different product (picturised by an 
array). Make a list of the colours and products you use, and then colour the quilt 
accordingly. One has been done for you.

1.	 2 × 3 = 6   
	 6 blue squares
2.	  ×  = 
	  squares
3.	  ×  =  
	  squares
4.	  ×  =  
	  squares
5.	  ×  =  
	  squares
6.	  ×  =  
	  squares

Now, lets see whose quilt is the most beautiful.

Row

Column

Row

Column
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More on  
Multiplication6

MULTIPLYING A 2-DIGIT NUMBER BY A 1-DIGIT NUMBER
Study the following examples.

1.

 

T O
2 1

× 3
6 3

Step 1:	� Multiply the ones: 3 × 1 one = 3 ones
	 Write 3 in the ones place.
Step 2:	� Multiply the tens: 3 × 2 tens = 6 tens
	 Write 6 in the tens place.

2.

 

Step 1:	� Multiply the ones: 7 × 0 ones = 0 ones
	 Write 0 in the ones place.
Step 2:	� Multiply the tens: 7 × 5 tens = 35 tens
	� Write 5 in the tens place and 3 in the 

hundreds place.

H T O
5 0

× 7
3 5 0

EXERCISE 6A
1.	 Multiply:

(d)
H T O

4 3
× 3

(h)
H T O

5 1
× 9

(g)
H T O

2 0
× 8

(f)
H T O

9 2
× 3

(e)
H T O

7 0
× 4

(c)
T O
2 4

× 2

(b)
T O
2 3

× 3

(a)
T O
3 2

× 3
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MULTIPLYING A 3-DIGIT NUMBER BY A 1-DIGIT NUMBER
Let us multiply 432 by 2.

Method 1:	 Using the expanded form of multiplicand
		 432 × 2 = (400 + 30 + 2) × 2
		  = �(400 × 2) + (30 × 2) + (2 × 2)
		  = 800 + 60 + 4
		  = 864

Method 2:	 Short method
	 Step 1:	� Arrange the numbers as  

shown on the right.
	 Step 2:	� Multiply the ones.
		  2 × 2 ones = 4 ones
		  Write 4 in the ones place.
	 Step 3:	� Multiply the tens.
		  2 × 3 tens = 6 tens
		  Write 6 in the tens place.
	 Step 4:	� Multiply the hundreds.
		  2 × 4 hundreds = 8 hundreds
		  Write 8 in the hundreds place.

2.	 Find the product.
(d) H T O

6 1
× 8

(h)
H T O

9 1
× 8

(g)
H T O

8 3
× 2

(f)
H T O

8 1
× 6

(e)
H T O

7 1
× 9

(c) H T O
7 2

× 4

(b) H T O
8 0

× 3

(a)
H T O

4 1
× 8

H T O
4 3 2

× 2
8 6 4 In practice, 

we apply the 
short method.
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EXERCISE 6B

MULTIPLICATION BY 10, 20, 30, ..., 100
Study the following examples.

32 × 20	 = 32 × (2 × 10)
	 = (32 × 2) × 10
	 = �64 × 10 
	 = 640

3 × 200	 = 3 × (2 × 100)
	 = (3 × 2) × 100
	 = �6 × 100 
	 = 600

Short Method
Multiply 32 by 2 and get 64.
Put 0 at the extreme right in 
the ones place.
So, 32 × 20 = 640

T O
3 2

× 2
6 4

Short Method
Put zeros in the ones and tens 
places.
Multiply 2 by 3 and get 6.
So, 3 × 200 = 600

H T O
2 0 0

× 3
6 0 0

Multiply:
1.

H T O
2 4 3

× 2

2.
H T O
2 1 1

× 3

3.
H T O
2 2 2

× 4

4.
H T O
4 3 4

× 2

5.
H T O
2 2 1

× 2

6.
H T O
3 1 2

× 2

7.
H T O
2 1 3

× 3

8.
H T O
2 1 0

× 4

9.
H T O
3 7 9

× 0

10.
H T O
3 0 3

× 3

11.
H T O
2 2 0

× 4

12.
H T O
4 0 1

× 2
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EXERCISE 6C
1.	 Write the product in the boxes.

	 (a)	

Put 0

15 × 10 = 

Multiply 15 by 1.

150 	 (b)	 34 × 20 = 	 (c)	 4 × 60 = 

	 (d)	 5 × 80 = 	 (e)	 43 × 20 = 	 (f)	 10 × 40 = 

	 (g)	 20 × 9 = 	 (h)	 31 × 30 = 	 (i)	 10 × 80 = 

2.	 Fill in the boxes.

	 4 × 2 = 	 4 × 20 = 	 4 × 200 = 

	 3 × 3 = 	 3 × 30 = 	 3 × 300 = 

	 7 × 100 = 700

Multiply 7 by 1.

 	 9 × 80 = 	 5 × 200 = 

MULTIPLICATION OF A 2-DIGIT NUMBER BY A 1-DIGIT NUMBER 
(With Carrying)
Let us multiply 36 by 4.

3-Step Method

Step 1:	�  Multiply 4 by 6
Step 2:	  Multiply 4 by 3 tens or 30
Step 3:	�   Add the particular products   	

 24 + 120

H T O
3 6

× 4
2 4

1 2 0
1 4 4
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EXERCISE 6D

Use the short method to find the product.

Step 1:	� 4 × 6 ones	 = 24 ones = 2 tens 4 ones
	� Write 4 in the ones place and carry 2 to the 

tens place.
Step 2:	� 4 × 3 tens = 12 tens
	 12 tens + 2 tens (carried over) = 14 tens
	 = 1 hundred 4 tens
	� Write 4 in the tens place and 1 in the hundreds 

place.

H T O
2

3 6
× 4

1 4 4

Carry

1.
H T O

5 8
× 3

2.
H T O

3 4
× 7

3.
H T O

1 6
× 4

4.
H T O

3 5
× 5

5.
H T O

1 4
× 7

6.
H T O

2 7
× 6

7.
H T O

4 5
× 9

8.
H T O

3 5
× 4

9.
H T O

5 6
× 5

10.
H T O

7 5
× 6

11.
H T O

3 8
× 4

12.
H T O

4 5
× 6

Short Method
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H T O
2 1 9

× 3
2 7
3 0

6 0 0
6 5 7

4-Step Method

Step 1:	  3 × 9	  = 27
Step 2:	  3 × 10	  = 30
Step 3:	  3 × 200	 = 600
Step 4:	  27 + 30 +  600 = 657

MULTIPLICATION OF A 3-DIGIT NUMBER BY A 1-DIGIT NUMBER 
(With Carrying)
Let us multiply 219 by 3.

EXERCISE 6E
1.	 Multiply:

Step 1:	 Multiply the ones.
	� 3 × 9 ones = 27 ones = 2 tens 7 ones
	� Write 7 in the ones place and carry 2 to the tens place.
Step 2:	 Multiply the tens.
	� 3 × 1 ten = 3 tens
	 3 tens + 2 tens (carried over) = 5 tens
	� Write 5 in the tens place.
Step 3:	 Multiply the hundreds.
	� 3 × 2 hundreds = 6 hundreds
	� Write 6 in the hundreds place.

H T O
2

2 1 9
× 3

6 5 7

Short Method

Carry

(a)
H T O
1 2 3

× 4

(b)
H T O
2 1 5

× 3

(c)
H T O
1 1 2

× 5

(d)
H T O
1 4 5

× 2
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WORD PROBLEMS
Example:	 �Radhika’s mother buys 4 bananas everyday for 

her family. How many bananas will she buy in 
92 days?

Solution:	� To get the total number of 
bananas bought by Radhika’s 
mother we multiply 92 by 4.

	� So, Radhika’s mother will buy 
368 bananas in all.

H T O
9 2

× 4
3 6 8

2.	 Find the product.
(a)

H T O
1 9 2

× 5

(e)
H T O
2 1 9

× 4

(b)
H T O
2 3 8

× 4

(f)
H T O
1 0 9

× 7

(c)
H T O
2 0 8

× 4

(g)
H T O
4 2 6

× 2

(d)
H T O
4 3 5

× 2

(h)
H T O
3 1 7

× 3

EXERCISE 6F
Workspace

Ans:  seats.

1.	� There are 4  theatres 
in a city. Each theatre 
has 224 seats. How 
many seats are there 
in all?

H T O

×
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Ans:  apples.

4.	� A fruit seller sold 115 boxes 
of apples to a school. Each 
box had 6 apples. How many 
apples in all were sold to the 
school?

H T O

×

Ans:  rupees.

5.	� Rohit has nine 50-rupee 
notes and four 100-rupee 
notes. How much money 
in all does he have?

H T O

×

H T O

×

Ans:  scarves.

3.	� Mrs Mishra knits 45 scarves in a 
month and distributes them in an 
old age home. If she knits the same 
number of scarves each month, 
how many scarves does she knit 
in 5  months? What moral value is 
shown by Mrs Mishra?

H T O

×

Ans:  grams.

2.	� A small box weighs 46 grams. How much do 8 such 
boxes weigh? H T O

×

[Value Based Question]
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